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Betrachten Sie folgendes PROLOG-Programm:

einweg(weinbergweg, von_seckendorff_platz, walter_huelse_strasse).
einweg(weinbergweg, weinbergmensa, wolfgang_langenbeck_strasse).
einweg(weinbergweg, peissnitz, schwanenbruecke).
einweg(weinbergmensa, peissnitz, wilde_saale_schwanenbruecke).
einweg(peissnitz, markt, wuerfelwiese_robert_franz_ring).
einweg(peissnitz, uniplatz, wuerfelwiese_moritzburgring).
einweg(markt, uniplatz, barfuesserstrasse).
einweg(markt, bahnhof, leipziger_strasse).

weg(X,Y,W) :- einweg(X,Y,W).
weg(X,Y,W) :- einweg(Y,X,W).

erreichbar_von_informatik(von_seckendorff_platz,[]).
erreichbar_von_informatik(X,[W|WS]) :-

erreichbar_von_informatik(Y,WS), weg(Y,X,W), not(member(W,WS)).

Bestimmen Sie T 0
P (∅), . . . , T 4

P (∅).
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